ViewFlex Camera

ASSEMBLY INSTRUCTIONS

Catalog # 101915 Rev. C

November 2017

Intelitek»»



Intelitek»»

Dynamic Solutions, Inspired Classrooms

Copyright © 2017 Intelitek Inc.
ViewFlex Camera Assembly Instructions
#101915 Rev. C

November 2017

Every effort has been made to make this guide complete and as accurate as possible. However, no
warranty of suitability, purpose or fitness is made or implied. Intelitek Inc. is not liable or responsible to
any person or entity for loss or damage in connection with or stemming from the use of the software,
equipment and/or the information contained in this publication.

Intelitek Inc. bears no responsibility for errors which may appear in this publication and retains the right
to make changes to the software, equipment and manual without prior notice.

Intelitek Inc.

Toll Free: 800-221-2763
Phone: 603-625-8600
Fax: 603-437-2137

Email: info@intelitek.com

ViewFlex Camera Assembly Instructions i © 2017 Intelitek - All Rights Reserved



Intelitek»»

Dynamic Selutions, Inspired Classrooms

Assembling the Camera Stand

The camera stand (#00-1422 -0000/ #00-1423-0000 / #00-1425-0000 / #00-1426-0000) is used to hold
the Webcam in position in order to carry out ViewFlex operations. The camera is attached to the camera
stand by means of an aluminum support (#115131) and a plastic camera holder (#113424). This
document describes how to attach the camera to the camera stand as shown here.

To assemble the camera stand:

1. Secure the base to a table.

= On a slotted table, screw four M5 Allen screws through the base and into four M5 slot nuts
(shown above).

= On a Formica table, secure the base directly into the table using four pan head Phillips screws.

ViewFlex Camera Assembly Instructions 1 © 2017 Intelitek - All Rights Reserved



Intelitek»»

Dynamic Solutions, Inspired Classrooms

2. Place the camera holder over the camera. Keep the camera firmly in place while sandwiching it
with the holder and the support. Ensure that the wire is fitted through the small opening of the
camera holder.

ViewFlex Camera Assembly Instructions 2 © 2017 Intelitek - All Rights Reserved



Intelitek»»

Dynamic Solutions, Inspired Classrooms

3. Fasten the camera holder to the support using two M5 Allen screws.

4. On the support side of the assembly, screw in a 1/4 inch Allen screw.

ViewFlex Camera Assembly Instructions 3 © 2017 Intelitek - All Rights Reserved



Intelitek»»

Dynamic Solutions, Inspired Classrooms

5. Attach the support to the horizontal bar using two M5 Allen screws.

6. Tighten the three small Allen screws of the camera holder. These screws further stabilize the
camera, preventing it from wobbling.

@ Note: You must ensure that the camera is not free to move once attached.

ViewFlex Camera Assembly Instructions 4 © 2017 Intelitek - All Rights Reserved



Intelitek»»

Dynamic Solutions, Inspired Classrooms

7. Secure the camera wire by sliding it into the side slot of the vertical beam. Cover the wire with
the plastic slot covering.

8. Secure the remainder of the wire to the table using cable clamps and nylon cable ties. The
clamps should be secured to a slotted table with M5 flat head Allen screws and T-slot nuts, and
to a Formica table with pan head Phillips screws.

ViewFlex Camera Assembly Instructions 5 © 2017 Intelitek - All Rights Reserved



